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Part A: Encircle the correct option. 

 

1. [
1

−1
] + [

3
2

] − [
4
2

] = 

 

        [
𝟖
𝟑

]      or       [
𝟎

−𝟏
] 

 

 

 

2. [9 4 7] + [3 −2 1] =  

 

 [𝟏𝟐 𝟐 𝟖]      or      [𝟖 𝟐 𝟏𝟐] 
 

 

 

3. [
1
2

] + [1 2] =  

 

[𝟔]    or  [𝐝𝐨𝐞𝐬𝐧’𝐭 𝐞𝐱𝐢𝐬𝐭 ] 
 

 

 

4. [
6 −2
5 −1
4 6

]  +  [
2 3

−4 1
7 3

]= 

 

 [
𝟒 −𝟓
𝟗 𝟎
𝟑 𝟗

]         or            [
𝟖 𝟏
𝟏 𝟎

𝟏𝟏 𝟗
] 

 

 

 

 

5. [
90
80

] − [
80
90

]=            

 

 [
𝟏𝟎
𝟏𝟎

]    or     [
𝟏𝟎

−𝟏𝟎
]      

 

 

 

1.   

 

 

 

 

 


